

**APPLICATIONS OF SUBORDINATION PRINCIPLE
FOR ANALYTIC FUNCTIONS CONCERNED
WITH ROGOSINSKI'S LEMMA**

SELIN AYDINOĞLU^a AND BÜLENT NAFI ÖRNEK^{b,*}

ABSTRACT. In this paper, we improve a new boundary Schwarz lemma, for analytic functions in the unit disk. For new inequalities, the results of Rogosinski's lemma, Subordinate principle and Jack's lemma were used. Moreover, in a class of analytic functions on the unit disc, assuming the existence of angular limit on the boundary point, the estimations below of the modulus of angular derivative have been obtained.

1. INTRODUCTION

The most classical version of the Schwarz Lemma examines the behavior of a bounded, analytic function mapping the origin to the origin in the unit disc $\mathbf{E} = \{z : |z| < 1\}$. It is possible to see its effectiveness in the proofs of many important theorems. The Schwarz Lemma, which has broad applications and is the direct application of the maximum modulus principle, is given in the most basic form as follows:

Let \mathbf{E} be the unit disc in the complex plane \mathbb{C} . Let $f : \mathbf{E} \rightarrow \mathbf{E}$ be an analytic function with $f(0) = 0$. Under these conditions, $|f(z)| \leq |z|$ for all $z \in \mathbf{E}$ and $|f'(0)| \leq 1$. In addition, if the equality $|f(z)| = |z|$ holds for any $z \neq 0$, or $|f'(0)| = 1$, then f is a rotation; that is $f(z) = ze^{i\theta}$, θ real ([5], p.329). A sharpened version of this is Rogosinski's Lemma [11], which say that for all $z \in \mathbf{E}$

$$|f(z) - a_1| \leq r_1,$$

Received by the editors March 12, 2019. Accepted November 06, 2020.

2010 *Mathematics Subject Classification.* 30C80, 32A10.

Key words and phrases. Schwarz lemma on the boundary, Rogosinski's lemma, analytic function, subordinate principle .

*Corresponding author.

where

$$a_1 = \frac{zf'(0)(1-|z|^2)}{1-|z|^2|f'(0)|^2} \quad \text{and} \quad r_1 = \frac{|z|^2(1-|f'(0)|^2)}{1-|z|^2|f'(0)|^2}.$$

We will use the following definition and lemma to prove our result [5, 6].

Definition 1.1 (Subordination Principle). Let f and g be analytic functions in \mathbf{E} . A function is said to be *subordinate* to g , written as $f(z) \prec g(z)$, if there exists a Schwarz function $\omega(z)$, analytic in \mathbf{E} with $\omega(0) = 0$, $|\omega(z)| < 1$ such that $f(z) = g(\omega(z))$.

Lemma 1.2 (Jack's Lemma). Let $f(z)$ be a non-constant analytic function in \mathbf{E} with $f(0) = 0$. If

$$|f(z_0)| = \max \{|f(z)| : |z| \leq |z_0|\},$$

then there exists a real number $k \geq 1$ such that

$$\frac{z_0 f'(z_0)}{f(z_0)} = k.$$

Let \mathcal{A} denote the class of functions $f(z) = 1 + c_1 z + c_2 z^2 + \dots$ that are analytic in \mathbf{E} . Also, let \mathcal{H} be the subclass of \mathcal{A} consisting of all functions $f(z)$ satisfying

$$\frac{zf'(z)}{(f(z))^2} \prec \frac{(1 + e^{-2i\beta})z}{(1 + ze^{-2i\beta})^2}, \quad z \in \mathbf{E}, \quad |\beta| < \frac{\pi}{2}.$$

The certain analytic functions which are in the class of \mathcal{H} on the unit disc \mathbf{E} are considered in this paper. The subject of the present paper is to discuss some properties of the function $f(z)$ which belongs to the class of \mathcal{H} by applying Jack's Lemma.

Let $f(z) \in \mathcal{H}$ and consider the following function

$$\phi(z) = \frac{f(z) - 1}{f(z) + e^{-2i\beta}}.$$

It is an analytic function in \mathbf{E} and $\phi(0) = 0$. Now, let us show that $|\phi(z)| < 1$ in \mathbf{E} . From the function $\phi(z)$, we have

$$\frac{zf'(z)}{(f(z))^2} = \frac{(1 + e^{-2i\beta})z\phi'(z)}{(1 + \phi(z)e^{-2i\beta})^2}.$$

We suppose that there exists a $z_0 \in \mathbf{E}$ such that

$$\max_{|z| \leq |z_0|} |\phi(z)| = |\phi(z_0)| = 1.$$

From Jack's lemma, we obtain

$$\phi(z_0) = e^{i\theta} \text{ and } \frac{z_0\phi'(z_0)}{\phi(z_0)} = k.$$

Therefore, we have that

$$\frac{z_0 f'(z_0)}{(f(z_0))^2} = \frac{(1 + e^{-2i\beta}) z_0 \phi'(z_0)}{(1 + \phi(z_0)e^{-2i\beta})^2} = \frac{(1 + e^{-2i\beta}) k \phi(z_0)}{(1 + \phi(z_0)e^{-2i\beta})^2} = \frac{(1 + e^{-2i\beta}) k e^{i\theta}}{(1 + e^{i\theta} e^{-2i\beta})^2}$$

which is not contained in $\frac{(1+e^{-2i\beta})\mathbf{E}}{(1+e^{-2i\beta})^2}$ since $|\phi(z_0)| = 1$ and $k \geq 1$. This contradicts the $f(z) \in \mathcal{H}$. This means that there is no point $z_0 \in \mathbf{E}$ such that $\max_{|z| \leq |z_0|} |\phi(z)| = |\phi(z_0)| = 1$. Hence, we take $|\phi(z)| < 1$ in \mathbf{E} . From the Schwarz lemma, we obtain

$$\begin{aligned} \phi(z) &= \frac{f(z) - 1}{f(z) + e^{-2i\beta}} = \frac{c_1 z + c_2 z^2 + \dots}{1 + e^{-2i\beta} + c_1 z + c_2 z^2 + \dots} \\ \frac{\phi(z)}{z} &= \frac{c_1 + c_2 z + \dots}{1 + e^{-2i\beta} + c_1 z + c_2 z^2 + \dots}, \\ |\phi'(0)| &= \frac{|c_1|}{|1 + e^{-2i\beta}|} \leq 1 \end{aligned}$$

and

$$|c_1| = |f'(0)| \leq |1 + e^{-2i\beta}| = 2 \cos \beta.$$

Lemma 1.3. *If $f(z) \in \mathcal{H}$, then we have the inequality*

$$(1.1) \quad |f'(0)| \leq 2 \cos \beta.$$

This result is sharp and the extremal function is

$$f(z) = \frac{1 + ze^{-2i\beta}}{1 - z}.$$

Since the area of applicability of Schwarz Lemma is quite wide, there exist many studies about it. Schwarz lemma has several applications in the field of electrical and electronics engineering. Use of positive real function and boundary analysis of these functions for circuit synthesis can be given as an exemplary application of the Schwarz lemma in electrical engineering. Furthermore, it is also used for analysis of transfer functions in control engineering and multi-notch filter design in signal processing [14, 15]. Others of these studies, which is called the boundary version of Schwarz Lemma, are about being estimated from below the modulus of the derivative of the function at some boundary point of the unit disc. The boundary version of Schwarz Lemma is given as follows:

If f extends continuously to some boundary point c with $|c| = 1$, and if $|f(c)| = 1$ and $f'(c)$ exists, then $|f'(c)| \geq 1$, which is known as the Schwarz lemma on the

boundary. In addition to conditions of the boundary Schwarz Lemma, if f fixes the point zero, that is $f(0) = 0$, then the inequality

$$(1.2) \quad |f'(c)| \geq \frac{2}{1 + |f'(0)|}$$

is obtained [13]. Inequality (1.2) and its generalizations have important applications in geometric theory of functions and they are still hot topics in the mathematics literature [1, 2, 3, 4, 7, 8, 9, 11, 12, 13, 14, 15, 16]. Mercer [10] proves a version of the Schwarz lemma where the images of two points are known. Also, he considers some Schwarz and Carathéodory inequalities at the boundary, as consequences of a lemma due to Rogosinski [11]. In addition, he obtain a new boundary Schwarz lemma , for analytic functions mapping the unit disk to itself [12].

The following lemma, known as the Julia-Wolff lemma, is needed in the sequel (see, [17])

Lemma 1.4 (Julia-Wolff lemma). *Let f be an analytic function in \mathbf{E} , $f(0) = 0$ and $f(\mathbf{E}) \subset \mathbf{E}$. If, in addition, the function f has an angular limit $f(c)$ at $c \in \partial\mathbf{E}$, $|f(c)| = 1$, then the angular derivative $f'(c)$ exists and $1 \leq |f'(c)| \leq \infty$.*

In this study, the modulus of the angular derivative of the $f(z)$ function has been considered from below at the boundary point in the unit disc. In this evaluation, $f(c) = \frac{1-e^{-2i\beta}}{2}$ condition has been taken into account.

2. MAIN RESULTS

In this section, we discuss different versions of the boundary Schwarz lemma for \mathcal{H} class. Assuming the existence of angular limit on a boundary point, we obtain some estimations from below for the moduli of derivatives of analytic functions from a certain class. We also show that these estimations are sharp.

Theorem 2.1. *Let $f(z) \in \mathcal{H}$. Assume that, for some $c \in \partial\mathbf{E}$, f has an angular limit $f(c)$ at c , $f(c) = \frac{1-e^{-2i\beta}}{2}$. Then we have the inequality*

$$(2.1) \quad |f'(c)| \geq \frac{\cos \beta}{2}.$$

Moreover, the equality in (2.1) occurs for the function

$$f(z) = \frac{1 + ze^{-2i\beta}}{1 - z}.$$

Proof. Let

$$\phi(z) = \frac{f(z) - 1}{f(z) + e^{-2i\beta}}.$$

$\phi(z)$ is an analytic function in \mathbf{E} , $\phi(0) = 0$ and $|\phi(z)| < 1$ for $z \in \mathbf{E}$. In addition, we take $|\phi(c)| = 1$ for $c \in \partial\mathbf{E}$ and $f(c) = \frac{1-e^{-2i\beta}}{2}$.

From the definition of $\phi(z)$, with the simple calculations, we get

$$\phi'(z) = \frac{(1 + e^{-2i\beta}) f'(z)}{(f(z) + e^{-2i\beta})^2}.$$

Therefore, from on the boundary Schwarz lemma, we obtain

$$\begin{aligned} 1 \leq |\phi'(c)| &= \left| \frac{(1 + e^{-2i\beta}) f'(c)}{(f(c) + e^{-2i\beta})^2} \right| = \left| \frac{(1 + e^{-2i\beta}) f'(c)}{\left(\frac{1-e^{-2i\beta}}{2} + e^{-2i\beta}\right)^2} \right| \\ &= \frac{4}{|1 + e^{-2i\beta}|} |f'(c)| = \frac{2}{\cos \beta} |f'(c)| \end{aligned}$$

and

$$|f'(c)| \geq \frac{\cos \beta}{2}.$$

Now, we shall show that the inequality (2.1) is sharp. Let

$$f(z) = \frac{1 + ze^{-2i\beta}}{1 - z}.$$

Then

$$f'(z) = \frac{1 + e^{-2i\beta}}{(1 - z)^2}$$

and

$$|f'(-1)| = \frac{|1 + e^{-2i\beta}|}{4} = \frac{\cos \beta}{2}.$$

□

The inequality (2.1) can be strengthened as below by taking into account $c_1 = f'(0)$ which is first coefficient in the expansion of the function $f(z)$.

Theorem 2.2. *Under the same assumptions as in Theorem 2.1, we have*

$$(2.2) \quad |f'(c)| \geq \frac{2 \cos^2 \beta}{2 \cos \beta + |f'(0)|}.$$

The inequality (2.2) is sharp with equality for the function

$$f(z) = \frac{1 + ze^{-2i\beta}}{1 - z}.$$

Proof. Let $\phi(z)$ be the same as in the proof of Theorem 2.1. Therefore, from Rogosinski's Lemma, we obtain

$$|\phi(z) - a_1| \leq r_1,$$

where

$$a_1 = \frac{z\phi'(0)(1-|z|^2)}{1-|z|^2|\phi'(0)|^2} \quad \text{and} \quad r_1 = \frac{|z|^2(1-|\phi'(0)|^2)}{1-|z|^2|\phi'(0)|^2}.$$

Without loss of generality, we will assume that $c = 1$. Thus, we obtain

$$\begin{aligned} \left| \frac{\phi(z) - 1}{z - 1} \right| &\geq \frac{1 - |a_1| - r_1}{1 - |z|} = \frac{1 - \frac{|z||\phi'(0)|(1-|z|^2)}{1-|z|^2|\phi'(0)|^2} - \frac{|z|^2(1-|\phi'(0)|^2)}{1-|z|^2|\phi'(0)|^2}}{1 - |z|} \\ &= \frac{1 - |z|^2|\phi'(0)|^2 - |z||\phi'(0)|(1-|z|^2) - |z|^2(1-|\phi'(0)|^2)}{(1-|z|)(1-|z|^2|\phi'(0)|^2)} \\ &= \frac{(1-|z|^2)(1-|z||\phi'(0)|)}{(1-|z|)(1-|z|^2|\phi'(0)|^2)} \\ &= \frac{1+|z|}{1+|z||\phi'(0)|}. \end{aligned}$$

Passing to the angular limit in the last inequality yields

$$|\phi'(1)| \geq \frac{2}{1+|\phi'(0)|}.$$

Since

$$|\phi'(0)| = \frac{|f'(0)|}{2\cos\beta}$$

and

$$|\phi'(1)| = \frac{2}{\cos\beta} |f'(1)|$$

we take

$$\frac{2}{\cos\beta} |f'(1)| \geq \frac{2}{1 + \frac{|f'(0)|}{2\cos\beta}} = \frac{4\cos\beta}{2\cos\beta + |f'(0)|}$$

and

$$|f'(1)| \geq \frac{2\cos^2\beta}{2\cos\beta + |f'(0)|}.$$

Now, we shall show that the inequality (2.2) is sharp. Let

$$f(z) = \frac{1 + ze^{-2i\beta}}{1 - z}.$$

Then, we have

$$|f'(-1)| = \frac{\cos\beta}{2}.$$

On the other hand whereas, we obtain

$$\begin{aligned}
 1 + c_1z + c_2z^2 + \dots &= \frac{1 + ze^{-2i\beta}}{1 - z}, \\
 c_1z + c_2z^2 + \dots &= \frac{1 + ze^{-2i\beta}}{1 - z} - 1 = \frac{z(1 + e^{-2i\beta})}{1 - z}
 \end{aligned}$$

and

$$c_1 + c_2z + \dots = \frac{1 + e^{-2i\beta}}{1 - z}.$$

Passing to limit ($z \rightarrow 0$) in the last equality yields $|c_1| = 2 \cos \beta$. Therefore, we obtain

$$\frac{2 \cos^2 \beta}{2 \cos \beta + |f'(0)|} = \frac{\cos \beta}{2}.$$

□

In the following theorem, inequality (2.2) has been strengthened by adding the consecutive terms c_1 and c_2 of $f(z)$ function.

Theorem 2.3. *Let $f(z) \in \mathcal{H}$. Assume that, for some $c \in \partial\mathbf{E}$, f has an angular limit $f(c)$ at c , $f(c) = \frac{1 - e^{-2i\beta}}{2}$. Then we have the inequality*

$$(2.3) \quad |f'(c)| \geq \frac{\cos \beta}{2} \left(1 + \frac{2(2 \cos \beta - |c_1|)^2}{4 \cos^2 \beta - |c_1|^2 + 2|(1 + e^{-2i\beta})c_2 - c_1^2|} \right).$$

Proof. Let $\phi(z)$ be the same as in the proof of Theorem 2.1. Let us consider the function

$$h(z) = \frac{\phi(z)}{z}$$

and

$$\vartheta(z) = \frac{h(z) - h(0)}{1 - \overline{h(0)}h(z)}$$

The function $\vartheta(z)$ is analytic in \mathbf{E} , $\vartheta(0) = 0$, $|\vartheta(z)| < 1$ for $|z| < 1$ and

$$\vartheta'(0) = \frac{h'(0)}{(1 - |h(0)|^2)} = \frac{\phi''(0)}{2(1 - |\phi'(0)|^2)}.$$

From Rogosinski's Lemma and [8, 9], we have

$$(2.4) \quad |\phi(z) - a_2| \leq r_2,$$

where

$$a_2 = \frac{z|\phi'(0)|(1 - \tau^2)}{1 - \tau^2|\phi'(0)|^2}, \quad r_2 = \frac{\tau|z|(1 - |\phi'(0)|^2)}{1 - \tau^2|\phi'(0)|^2}, \quad \tau = |z| \frac{|z| + |\vartheta'(0)|}{1 + |z||\vartheta'(0)|}.$$

Without loss of generality, we will assume that $c = 1$. Thus, from (2.4), we obtain

$$\begin{aligned}
\left| \frac{\phi(z) - 1}{z - 1} \right| &\geq \frac{1 - |a_2| - r_2}{1 - |z|} = \frac{1 - \frac{|z||\phi'(0)|(1-\tau^2)}{1-\tau^2|\phi'(0)|^2} - \frac{\tau|z|(1-|\phi'(0)|^2)}{1-\tau^2|\phi'(0)|^2}}{1 - |z|} \\
&= \frac{1 - \tau^2 |\phi'(0)|^2 - |z| |\phi'(0)| (1 - \tau^2) - \tau |z| (1 - |\phi'(0)|^2)}{(1 - |z|) (1 - \tau^2 |\phi'(0)|^2)} \\
&= \frac{(1 - \tau |\phi'(0)|) (1 + |\phi'(0)| - |z| |\phi'(0)| - \tau |z|)}{(1 - |z|) (1 - \tau^2 |\phi'(0)|^2)} \\
&= \frac{1 + \tau |\phi'(0)| - |z| |\phi'(0)| - \tau |z|}{(1 - |z|) (1 + \tau |\phi'(0)|)}.
\end{aligned}$$

Since $\tau = |z| \frac{|z| + |\vartheta'(0)|}{1 + |z| |\vartheta'(0)|}$, we take

$$\begin{aligned}
\left| \frac{\phi(z) - 1}{z - 1} \right| &\geq \frac{1 + |\phi'(0)| |z| \frac{|z| + |\vartheta'(0)|}{1 + |z| |\vartheta'(0)|} - |z| |\varphi'(0)| - |z| |z| \frac{|z| + |\vartheta'(0)|}{1 + |z| |\vartheta'(0)|}}{(1 - |z|) \left(1 + |\phi'(0)| |z| \frac{|z| + |\vartheta'(0)|}{1 + |z| |\vartheta'(0)|} \right)} \\
&= \frac{1 - |z|^3 + |z| |\vartheta'(0)| (1 - |z|) - |\phi'(0)| |z| (1 - |z|) + |z| |\phi'(0)| |\vartheta'(0)| (1 - |z|)}{(1 - |z|) (1 + |z| |\vartheta'(0)| + |\phi'(0)| |z|^2 + |z| |\phi'(0)| |\vartheta'(0)|)} \\
&= \frac{1 + |z| + |z|^2 + |z| |\vartheta'(0)| - |\phi'(0)| |z| + |z| |\phi'(0)| |\vartheta'(0)|}{1 + |z| |\vartheta'(0)| + |\phi'(0)| |z|^2 + |z| |\phi'(0)| |\vartheta'(0)|}.
\end{aligned}$$

Passing to the angular limit in the last inequality yields

$$\begin{aligned}
|\phi'(1)| &\geq \frac{3 + |\vartheta'(0)| - |\phi'(0)| + |\phi'(0)| |\vartheta'(0)|}{1 + |\vartheta'(0)| + |\phi'(0)| + |\phi'(0)| |\vartheta'(0)|} \\
&= \frac{3 + |\vartheta'(0)| - |\phi'(0)| + |\phi'(0)| |\vartheta'(0)|}{(1 + |\vartheta'(0)|) (1 + |\phi'(0)|)}.
\end{aligned}$$

A little manipulation gives

$$\begin{aligned}
|\phi'(1)| &\geq 1 + \frac{2(1 - |\phi'(0)|)^2}{(1 + |\vartheta'(0)|) (1 - |\phi'(0)|^2)} \\
&= 1 + \frac{4(1 - |\phi'(0)|)^2}{2(1 - |\phi'(0)|^2) + |\phi''(0)|}.
\end{aligned}$$

Since

$$\begin{aligned}
|\phi'(0)| &= \frac{|c_1|}{2 \cos \beta}, \\
|\phi''(0)| &= \frac{|(1 + e^{-2i\beta}) c_2 - c_1^2|}{2 \cos^2 \beta}
\end{aligned}$$

and

$$|\phi'(1)| = \frac{2}{\cos \beta} |f'(1)|,$$

we obtain

$$\begin{aligned}
 |f'(1)| &\geq \frac{\cos \beta}{2} \left(1 + \frac{4 \left(1 - \frac{|c_1|}{2 \cos \beta} \right)^2}{2 \left(1 - \left(\frac{|c_1|}{2 \cos \beta} \right)^2 \right) + \frac{|(1+e^{-2i\beta})c_2 - c_1^2|}{2 \cos^2 \beta}} \right) \\
 &= \frac{\cos \beta}{2} \left(1 + \frac{2 (2 \cos \beta - |c_1|)^2}{4 \cos^2 \beta - |c_1|^2 + 2 |(1 + e^{-2i\beta}) c_2 - c_1^2|} \right).
 \end{aligned}$$

□

If $f(z) - 1$ have zeros different from $z = 0$, taking into account these zeros, the inequality (2.3) can be strengthened in another way. This is given by the following Theorem.

Theorem 2.4. *Let $f(z) \in \mathcal{H}$. Assume that, for some $c \in \partial\mathbf{E}$, f has an angular limit $f(c)$ at c , $f(c) = \frac{1-e^{-2i\beta}}{2}$. Let a_1, a_2, \dots, a_n be zeros of the function $f(z) - 1$ in \mathbf{E} that are different from zero. Then we have the inequality*

$$\begin{aligned}
 |f'(c)| &\geq \frac{\cos \beta}{2} \left(1 + \sum_{i=1}^n \frac{1 - |a_i|^2}{|c - a_i|^2} \right. \\
 (2.5) \quad &+ \left. \frac{2 \left(2 \cos \beta \prod_{i=1}^n |a_i| - |c_1| \right)^2}{4 \cos^2 \beta \left(\prod_{i=1}^n |a_i| \right)^2 - |c_1|^2 + \prod_{i=1}^n |a_i| \left| (1 + e^{-2i\beta}) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right|} \right).
 \end{aligned}$$

Proof. Let $\phi(z)$ be as in the proof of Theorem 2.1 and a_1, a_2, \dots, a_n be zeros of the function $f(z) - 1$ in \mathbf{E} that are different from zero. Let

$$B(z) = z \prod_{i=1}^n \frac{z - a_i}{1 - \overline{a_i}z}.$$

$B(z)$ is an analytic function in \mathbf{E} and $|B(z)| < 1$ for $|z| < 1$. By the maximum principle for each $z \in \mathbf{E}$, we have $|\phi(z)| \leq |B(z)|$. Consider the function

$$h(z) = \frac{\phi(z)}{B(z)} = \frac{f(z) - 1}{f(z) + e^{-2i\beta}} \frac{1}{z \prod_{i=1}^n \frac{z - a_i}{1 - \overline{a_i}z}}$$

$$\begin{aligned}
&= \frac{c_1 z + c_2 z^2 + \dots}{1 + e^{-2i\beta} + c_1 z + c_2 z^2 + \dots} \frac{1}{z \prod_{i=1}^n \frac{z - a_i}{1 - \overline{a_i} z}} \\
&= \frac{c_1 + c_2 z + \dots}{1 + e^{-2i\beta} + c_1 z + c_2 z^2 + \dots} \frac{1}{\prod_{i=1}^n \frac{z - a_i}{1 - \overline{a_i} z}}.
\end{aligned}$$

$h(z)$ is analytic in \mathbf{E} and $|h(z)| < 1$ for $z \in \mathbf{E}$. In particular, we have

$$|h(0)| = \frac{|c_1|}{2 \cos \beta \prod_{i=1}^n |a_i|}$$

and

$$|h'(0)| = \frac{\left| (1 + e^{-2i\beta}) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right|}{4 \cos^2 \beta \prod_{i=1}^n |a_i|}.$$

In addition, with the simple calculations, we take

$$\frac{c\phi'(c)}{\phi(c)} = |\phi'(c)| \geq |B'(c)| = \frac{cB'(c)}{B(c)}$$

and

$$|B'(c)| = 1 + \sum_{i=1}^n \frac{1 - |a_i|^2}{|c - a_i|^2}.$$

The composite function

$$m(z) = \frac{h(z) - h(0)}{1 - \overline{h(0)}h(z)}$$

is analytic in the unit disc \mathbf{E} , $m(0) = 0$, $|m(z)| < 1$ for $z \in \mathbf{E}$ and $|m(c)| = 1$ for $c \in \partial\mathbf{E}$. From (1.2), we obtain

$$\begin{aligned}
\frac{2}{1 + |m'(0)|} &\leq |m'(c)| = \frac{1 + |h(0)|^2}{|1 - \overline{h(0)}h(b)|^2} |h'(c)| \\
&\leq \frac{1 + |h(0)|}{1 - |h(0)|} \{ |\phi'(c)| - |B'(c)| \}.
\end{aligned}$$

Since

$$\begin{aligned}
 |m'(0)| &= \frac{|h'(0)|}{1 - |h(0)|^2} = \frac{\frac{\left| (1+e^{-2i\beta}) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right|}{4 \cos^2 \beta \prod_{i=1}^n |a_i|}}{1 - \left(\frac{\frac{|c_1|}{n}}{2 \cos \beta \prod_{i=1}^n |a_i|} \right)^2} \\
 &= \prod_{i=1}^n |a_i| \frac{\left| (1 + e^{-2i\beta}) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right|}{4 \cos^2 \beta \left(\prod_{i=1}^n |a_i| \right)^2 - |c_1|^2},
 \end{aligned}$$

we get

$$\begin{aligned}
 &\frac{1 + \prod_{i=1}^n |a_i|}{4 \cos^2 \beta \left(\prod_{i=1}^n |a_i| \right)^2 - |c_1|^2} \left| (1 + e^{-2i\beta}) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right| \leq \\
 &\frac{1 + \frac{|c_1|}{n}}{2 \cos \beta \prod_{i=1}^n |a_i|} \left\{ \frac{2}{\cos \beta} |f'(c)| - 1 - \sum_{i=1}^n \frac{1 - |a_i|^2}{|c - a_i|^2} \right\}, \\
 &\frac{2 \left(4 \cos^2 \beta \left(\prod_{i=1}^n |a_i| \right)^2 - |c_1|^2 \right)}{4 \cos^2 \beta \left(\prod_{i=1}^n |a_i| \right)^2 - |c_1|^2 + \prod_{i=1}^n |a_i| \left| (1 + e^{-2i\beta}) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right|} \\
 &\leq \frac{2 \cos \beta \prod_{i=1}^n |a_i| + |c_1|}{2 \cos \beta \prod_{i=1}^n |a_i| - |c_1|} \left\{ \frac{2}{\cos \beta} |f'(c)| - 1 - \sum_{i=1}^n \frac{1 - |a_i|^2}{|c - a_i|^2} \right\},
 \end{aligned}$$

$$\begin{aligned}
& \frac{2 \left(2 \cos \beta \prod_{i=1}^n |a_i| - |c_1| \right)^2}{4 \cos^2 \beta \left(\prod_{i=1}^n |a_i| \right)^2 - |c_1|^2 + \prod_{i=1}^n |a_i| \left| \left(1 + e^{-2i\beta} \right) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right|} \\
& \leq \frac{2}{\cos \beta} |f'(c)| - 1 - \sum_{i=1}^n \frac{1 - |a_i|^2}{|c - a_i|^2} \\
& \text{and} \\
& |f'(c)| \geq \frac{\cos \beta}{2} \left(1 + \sum_{i=1}^n \frac{1 - |a_i|^2}{|c - a_i|^2} \right. \\
& \left. + \frac{2 \left(2 \cos \beta \prod_{i=1}^n |a_i| - |c_1| \right)^2}{4 \cos^2 \beta \left(\prod_{i=1}^n |a_i| \right)^2 - |c_1|^2 + \prod_{i=1}^n |a_i| \left| \left(1 + e^{-2i\beta} \right) \left(c_2 + c_1 \sum_{i=1}^n \frac{1 - |a_i|^2}{a_i} \right) - c_1^2 \right|} \right). \quad \square
\end{aligned}$$

REFERENCES

1. T. Akyel & B.N. Ornek: A Sharp Schwarz lemma at the boundary. *J. Korean Soc. Math. Ser. B: Pure Appl. Math.* **22** (2015), no. 3, 263-273.
2. T.A. Azeroğlu & B.N. Örnek: A refined Schwarz inequality on the boundary. *Complex Variables and Elliptic Equations* **58** (2013), 571-577.
3. H.P. Boas: Julius and Julia: Mastering the Art of the Schwarz lemma. *Amer. Math. Monthly* **117** (2010), 770-785.
4. V.N. Dubinin: The Schwarz inequality on the boundary for functions regular in the disc. *J. Math. Sci.* **122** (2004), 3623-3629.
5. G.M. Golusin: *Geometric Theory of Functions of Complex Variable* [in Russian]. 2nd edn., Moscow 1966.
6. I.S. Jack: Functions starlike and convex of order α . *J. London Math. Soc.* **3** (1971), 469-474.
7. M. Jeong: The Schwarz lemma and its applications at a boundary point. *J. Korean Soc. Math. Educ. Ser. B: Pure Appl. Math.* **21** (2014), 275-284.
8. M. Jeong: The Schwarz lemma and boundary fixed points. *J. Korean Soc. Math. Educ. Ser. B: Pure Appl. Math.* **18** (2011), 219-227.
9. M. Mateljević: Rigidity of holomorphic mappings & Schwarz and Jack lemma. DOI:10.13140/RG.2.2.34140.90249, In press.
10. P.R. Mercer: Sharpened Versions of the Schwarz Lemma. *J. Math. Anal. Appl.* **205** (1997), 508-511.

11. P.R. Mercer: Boundary Schwarz inequalities arising from Rogosinski's lemma. *Journal of Classical Analysis* **12** (2018), 93-97.
12. P.R. Mercer: An improved Schwarz Lemma at the boundary. *Open Mathematics* **16** (2018), 1140-1144.
13. R. Osserman: A sharp Schwarz inequality on the boundary. *Proc. Amer. Math. Soc.* **128** (2000) 3513-3517.
14. B.N. Ornek & T. Düzenli: Bound Estimates for the Derivative of Driving Point Impedance Functions. *Filomat* **32** (2018), no. 18, 6211-6218..
15. B.N. Ornek & T. Düzenli: Boundary Analysis for the Derivative of Driving Point Impedance Functions. *IEEE Transactions on Circuits and Systems II: Express Briefs* **65** (2018), no. 9, 1149-1153.
16. B.N. Örnek: Sharpened forms of the Schwarz lemma on the boundary. *Bull. Korean Math. Soc.* **50** (2013), no. 6, 2053-2059.
17. Ch. Pommerenke: *Boundary Behaviour of Conformal Maps*. Springer-Verlag, Berlin. 1992.

^aDEPARTMENT OF COMPUTER ENGINEERING, AMASYA UNIVERSITY, MERKEZ-AMASYA 05100, TURKEY
Email address: selinnaydinoglu@gmail.com

^bDEPARTMENT OF COMPUTER ENGINEERING, MALTEPE UNIVERSITY, MALTEPE-ISTANBUL 34857, TURKEY
Email address: nafi.ornek@amasya.edu.tr, nafiornek@gmail.com